o). % fvew +3: +1fs-
A. W+ 9F B. Rl + =@
C. s + 3@ D. 4@ + 5w

YT : B/5 + 2/5 (o ) TARH = T + 9 (3-0°) A |
- e A+ T -8 e fT4ud -

wigRaeR R (H Unit)
forwraf : 2014-2015 [Set-1]

2014-2015 (342)

If they __ by car, it would have been a lot quicker.
A. had gone B. would go
C. would have gone D. have gone

it : @ 3rd conditional €7 example
If + past perfect + sub + would/could/might + have
(p.p)t+ ext.
Ex: If they had gone by car, itmlddham?bmabtqﬁnka..
Ans: A,
M Which of the following is a cumpound nnun"

B. Gaf=eimE, S8 wewre 3N

o i + WE - WE 0 WS + T - WS A. Bay of Bengal B. Team
Ans:D. C. sunlight D. country
e D e TS Ty [t - 72 A SreiHE word IF T 0 wond F6F T
A. (g, 28w orea ®1@ compound noun I | - Basketball, Sunrise,

Football Zenf |

I - @A favEd 71 RemeeEtE AvE e [emE @
g v W T 9 e ueE g 3 | o
e T | Bt SO - T e o i

Pafift - 71 5w =% AR |

Ans : D.
Choose the correct form of verbs: He did not
know that the earth (move) around the sun.

A. moves B. is moved
C. moved D. has moved

tense 9 3 |

Ex: The earth moves around the sun.

Ans : A,

C. feegw, Ff%aws scienagm $ Curilis
D. foem gaft e 7, wmﬁrw ﬁ They discussed the matter ___ a cup of tea.
T : & GG - mm}_ A A. with B. for C.on D. over
o CRURTAI - mmm1 f LAns : D. |
o REg - fEwras S | Pl 10. Which one of the following is different from others?
o fowpt it s 1 - S T @1 o | A. Rapid B. Hasty
Ans:D. C. Prudent D. Thoughtless
0e, iqawnm" a7 Refre b T : o Rapid - &€« Hasty - oo |
A. ez 3z=ife B. @ G « Prudent - 5% « Thoughtless - Be@rs/zbamt
C. st D. s ore e prudent is different form others.
T[T : » TG T - B T T | Ans: C.
o S I - Adfaem v M Choose the approprlate preposition:
® CHPETEO! - HFF | You have to answer ____ your behavior.
o GFMTH 7T - TP | A. for B. to
T TR FOE 93 AT T2 R R | C. of D. about
Ans : A. [T : Answer to - B8 ORI |
o8, WA vt o1 -Heanswedtomym
2 hic g oy Answer for - sRffE =1 |
s, . t ior.
T mmaﬁaw,w‘aanﬁi M’:K‘mha\m o answer for your behavior |
A‘“ B. (P¥ Choose the right parts of speech: We are
PRI A s DA . celebrating our %’icto:?v day.
A. B3 o fift B. 3% et &ﬁ A. Proper Noun B. Common Noun
C. 5= 55 fafe D. 31 5= =i2 fafz

C. Collective Noun D. Abstract Noun
[T : I 7 noun CTE, e, TG © ISR AT T G
abstract noun | (TP sentence BTT victory WA WA
(fere) 3amee =12 «f% Abstract Noun |
Ans:D
m Choose the right parts of speech: Kindness is -

A. Proper Noun B. Common Noun

C. Collective Noun D. Abstract Noun
Mgt : Kindness - $w1et |
«9rs Kindness 7#1 2% @ 330" 9% ¢ Abstract noun

B i 8




-———_—_—eeeeeeeee——
14. Hotel rooms must be by noon. Jz—‘-;
A. evacuated B. vacated bl e g B e

C. abandoned D. left BC= {(4_4)2+(3_0)2 —3

! : @ Evacuated - SPTR4 Sa/F8Re $41
« Vacated - ¥iff1 #=1/ 571 wreat CA = (4-0)* +(0—0)* =4
e Abandoned - “fer® 1 1s8=5+3+4=12
o Left- am Ans : C.
@4 Hotel room i@ 21 snd (vacated) 97 | R, I AGIE TSI AR IR IV SSTw-
Ans : B. A. 1 B.-1 C. =% D. Wi
[ "Gyrate' means__. T < S R aem Toad @i 90°
A. float B. explain  C. spin D. decayed wdie B cos 6 = B cos 90° = 0
TMT : Gyrate - BT R | A €
Synonym : Spin, Turn, Wheel, Revolve. RIS & S ('Y (T 1 07
H‘;.A.!l:efr}ange the following letters to make a word and - i v - . o % &
choose the category in which it fits: RPOSWAR. = - e
A. City B. Animal i e
C. Vegetable D. Bird
Em: RPOSWAR = SPARROW - 592 -fty
Ans : D, 3
Choose the correct form of verbs: She proceeded
as though I (not speak).
A. did not speak B. not spoken
C. had not spoken D. not speaking oy i
W:.A-sxt/ﬁmﬁamgh-mn : g 38. 3 @IS 451 W, SO T € 6O WM W Whw)
® As if/As though €% 2% %¢* present indefinite == e @ fb @ e T i M RewE TR IO
e et past indefinite T | A. 415 B.1/3
-mwmwmmwmmfwm C.2/5 D. 3/5
Ans: C. ' 5 54

S YY1 : G AW 29T HGRTS] =
If you buy one t-shirt, you ___the second one free 4+5¢ 6 15 3

A. will have gotten B. will get

Ans : B,
C. would get D. got
. : — 3¢, SRR WO CAF AT WAL WA R AT B
[t ;1 ditional @3 ¢ If + pr +
s lﬁ“;":wﬁ 5 e e 21 i o T | v 10 it 3 zewm e
Enlfmauym'rmyummgaummﬁm 588
Ans: B A. 10/31 B. 10/8
19. Which one of the fol]ow:ng word is misspelled? - 5 = 2211 =
A. Pomegranate B. Hydraulic ot : 3 .G _ 2
C. Poltergeist D. Emblazon + 19 P zom mR chl 31
quPomegranate-‘ETﬁm Aus+ D
« Hydraulic - =18 |
e Poltergeist - Se@2aail g | :
o Emblazon - o586 @41 | . f(x)= qRX# 2T (2) G AW FO?
x -
’Ihemspeﬂedm - Pomegranate. X 4 B
i C.0 D.2
Choose the appropriate preposition : There was x
water everywhere __ them. PGt: —— =2=2x-4=x=>x=4
A.in B. to C.around D. of < Ax:_z
T : Around - ST | *rEH Around I _& G .
 Ans: C. r I 1. W fagew A0 Iew <R @ WA Ppre cSFawE
mmmmmm A@0,0,B@43)s CA" O' " 1

C (4, 0) | fagmfoz «fasfr wo2 C -1 D. 3
A.25 B. 16 €. 12 D. 13 - -
LAns ;

3 A |




iR G RN | LY 1T

Gy 30 o gms my_,} 8. Weg‘&lﬂmm«mﬂmﬁmw
3 R 701 fosa ot Hfdwr
A. 4 B.—4 C.—2 D. 1 A.%:E B_%:%
M 3“5=3*-3+§:>3“.35=3".33+5 .
3 o g Dot p, 180_D
=33 FP-1)=8=F"=1=3 "180 = " R
=2>xt+t4=0=>x=-4 C
LAns : B. w=1°=—1%6 D°= 1];:;0
. ‘CLOSE’ *mfb3 afef fAm soe Reupy ==t a2
A. 240 B. 48 C. 120 D. 420 .p=Drn D 180
o : e veam = 51 = 120 35 S - LS T
Ans : C. AM:D{ ¢ ;
oo, @ ST 12 & T TR TG W0 8 o WA | fofw | ¢ logx +logy +logyt=7
TS GIE 7 O IHE TNES WS ARIT TR T 5 A. 6 s S8 a2
o= T At [T : 101;;;2z +ln,gz4g+ log8
A. 336 B. 222 C. 120 D. 420 = 1+log;2" +logs2’
Tt : WG T G TR =12 -8=4 *i+§10g332231og22
: — A = ldm3=
. &=y At = °Cs x "C, = 336 Apeeetit
Ans : A. ob, sinl5° & W F?
qeeR IW Ol @Y GIL WS SHEN I & ST
TewS fAvse @ 39 7@ A. 22 B. [ﬁ C. V341 D. 0
A. FATCATIATEIG B. @< 99 3 22 22
C. 374 3 D. 1R 7 TNt : sinl5° = sin(45° —30°)
TN - A AW ¢ @GS AR (GAEA A7 G0 [T g
(TR TR, SR & FASTANS (4™ I | = sind5° c0s30° — cos45°sin30° =——=
TSy TS : (PEE T (HAAA GIF TS SIE 22
T @ WCHLS TTSAT IACEHD A0 | Ans : B.
Ans: Al 09, a+b+c=10Ra’+b*+c’=84TMab+bc+ca=?
o3, IO AR AR -330 TGRN 8 -Soo G W4y TA W A. 16 B. 12 C.8 D. 10
IR TTE ¢RTA? T : (a +b+e) = a +b'+c + 2(ab+ be+ ca)
A. 5T B. 97 C.w D. 8¢ (a+b+c)? =(a®+b* +¢c?)
: = (ab+bc + ca)= :
p— (a - ca) 3
2—
=> (ab+bc +ca)= i 84*8
Ans: C.
120
At ob. secO + tanB = 1 T secH — tand = ?
A1 B.1/2 €.2 D. 3
TN : sech -+ tan® = 1 = sec’d — tan’0 = 1 (secH — tan6)
= 1 = 1(secB — tanB)
Ans: B.
|_ns : . : cosech —tanf=1
oo, Tha =b"=c"qmabc=1Ts@x+y+c="? Ans : A,
A.0 B. I C.-1  D. @b o, X + Yy — 2ax = 0, 9% ISy FRTACH Cotenia TP
gt 2> =b" =¢'” @b
b= p=g" A. r= 2asin0 B. r=2acos8
M =p' = ¢ = a?* C. r=2acos0 sinf D.r=acosf
a )'."1 I+:+z 0 Tt - xz + yz —2ax=0
ARTE THEA s = 1% —2arcosd = 0 [+ X’ + y* =1’] =1 = 2acosd
:>-X+y+2=0 Ans : B.
Ans : A.




8. A=i-2j-2k &@® B=6i+3j+2k ¥ WPx
WS R At ¥y

4 __fl_
A. cos ( 21)

C. cos™ i

A2 K @ T TS g (k + 1)x’ + 2(k + 3)x + 2k + 3 A0
af> spfaf zar
A il 2 Bide-X
W ) D.-3,2

(1, 4) o 9, -12) @ Rt 523
TS HWIRES I O YA F07

8¢. cos(150°— @) = —% T 0 a7 W TSy

A.75° B. 50°
C. 30° D. 90°

t,ABCﬁWBC,CAmABmMW

T D, E ¢ F T AD+ BE + CF =9
A0 B.2
C.1 -1

%{(xlz)(x’ +2x+4)}=?

A 3x*+2 B. x*
C. 3x* D.0

- d [tanx —cotx

] — ¢ —— =7

= dx{tanx+cotx}
A. cosecx B. 2sec2x
C. sin2x D. 2sin2x

Yy =-5x + 9 G AR 7N G -
A5 B.-5
1

D, —=

& <
5 5




ﬁx={e-m)my=a-(1—coae)uw%—?
A. cot (8) B. a cot (6/2)
_C.cos(9/2) D.sin(82)

eu. Wp(x)=x +6x —ax + 6 @ x — 2 i ot =
SN 6T, S a="
A. 32 B. 33 C. 16

N (2, 3) ¢ (-2, 4) R T dx — 2y + 7 = 0 TTENE
G

A.(0,82) B.(0,72) C.(2,72) D.(0, 4/2)

B (o + 0 -7} =
_A. 4 B. 3x’ C.4x" ; _ |
3 e e B T 120° conet T | g S
10N @R oR 76 TEon Soeem e e Seoy

¥ | TN Serm W s ey
_AIN___ BSN  C4N D3N




14-2015 (347)

55 fir waEw o g3 3@ Rrsker 3@ M, € M,
wre q2ft we Rew T w3 de 3T rem Relle firs

W V, 8 V, @ o8 &V, : V, 97 W9 s
FHGA I TR
A. M]ZM: B Mz.’Ml £ M|M2 D.@Fﬁ'ﬂl
v m :
W:m;v.=mgv;=>—1-=--2+
Ans : B.

Yo, GF 6 CPRP SN I W @R RIS TA?
A. 0.60 ms™ B.0.63ms™
C.0.61 ms™ D. @miE 7
[ e v = vy (1 + AB % 0.61)
1°C St argre = s za 0.61 ms
Ans : C il oy e,
10 a.m.u. SEE TG S eV-mMﬂmﬁm
G TP
A.9.34x10° B.93.4 x 10’
C.9.34 x 10 D. @=bE 7
M0 : E=me’= 10 x 166057 x 1077 x 3 x 10°)
A2 i
s Lt 13 AT TR eV
1.6x107"7 :

Ans=A. =

U, mﬁam*maﬁnmws mmwﬁm
efSvars 3/2 T, IRF A e et v
A.4/3 B. 3/4 C.2/3 D.3/2

TN %l =1 = X %x'-.%#‘mf u..#;-
Ans: A,

9o, nﬁﬁt‘»mwrmhfj Mmmmwmtﬁ
BRIee T T | STHE T I AT gy

A, foaed == B. W= T3
C. ez D. FAbE T3

s I 26w 230°C s 27°CMWMI a3
e TE? .
G 53%

A.90%  B.50% D. 40%
Wn=[i—7§l]xlﬂ%; Gt

B B
—(1 -503]3(1% 404%

Ans : D.
@ ey afirnm Fwbn ¢ Pictom IREe Ty o
e1fRe < A, s fwa b I
A. vey B, #werta  C.%eEg D. (FHbE Y

TN : @ PEFOIAR @t : 7 iy BN e o1l AR T

9 IRE ®E @F T FESE W A O Fae e

effewmn W |

o Bt ftF < efrm Brbn suem e Afaeds @

1, S 51+ efdsn 2w |

o e 2fiFnt : @ 2 Pt o R 9rE, e

e eifdRt 9

Ans: C.

v, T afirnt Foen i oo afdFy
A. =3 tefEm effdmn B. 37 tefag e
C. =i tefe aifdmm D. F®E 7w

h I 3 (A IR AU I T s (b TR
A. 3& w AfFEws TS AR
B. I8fba & SEw 20 A
C. 38 w0 T I
D. @=oe 71

=it s | W | 10 m | 10 m
e 39 41 30
1 10 10 10
Anms : B. _ £
EL ECET

A. e g7 st +fea fers e o
B. &% we qrema wm S A=
C. f5fs o 321 ~pform crawre B féa =m
D. s@ete
ﬁaﬁw*ﬁmqﬁ mﬁﬁwmﬁ
mmwﬂm
Ans : C.
TSR S T AT CATEE, S AU5R (D Z0A?
A. g SieRa O T AW
B. ¥ fog w1 7w I
C.AsBtemRzw
D. (Ff6E 71
TG : T4 SIS AR T AT T -
» SRfEEE ST OF T I |
o U2 SRENE SRS WA TgT 0T |
Ans : A,




3 @ St P M AR e wer @@ TR
S T

A.V4P B.\2P C. 6P D 3P
T quchmMﬁwwwmfﬂml

mwﬁﬁm&mﬁ@hmm{mr '

A. IEEGH B. =31

C. SRERR D. =52 7

TG : o WREIDM : PR FOFECEA @A 7L T
ST WA T |

© SRR : (1 FBEree o il 0 S WETRE 30 |
* SREMDE - mﬁw%mﬂtmw
EIRANG 0 |

Ans : A.

. (I TR 7o @ @rw Tesy THr

A. I753 2w Bwﬁﬂ C@W?{ D@‘Hﬁw

et _'-:._.-.
T TemwAa |
ol | wes wefe vt B
TaE (1R
@™ | TEE o il AL

Ans : B. _J
99, "RENE TS O OF @Y G0 e @R o4r; at
e e =t e wi Ty
A.o-3N B.B-3M C.y-30 D. @HBE ¥
[T : & FHIYA 708 S (Y A, o - AW TG
© W AR | AMRCETET mﬁ%&m eﬁ it
WWWl
o o1 1 rEm I9ES W oS Ay @ 6 x 107 m.
» &% AFEEe o TIge e | ¥
o AFRTETE ce-Helt FRmgaet =t =z |
S$: A, .
P, wite e s @My
A @IgFE B 99gF  C. 9¥9geE D, @HE T

Tt : el ofes ea = |
Ans : D.
b, IR RGN A o7 e 57
A. T 27 B. fi==i% 535
C. Sl W13 D. @=f5% 717
Y1 : © Syoo I ITH S (FIHGE ©F 77 |
® 330¢ AH WETHRE TFF FoLHITS F0a |
® SdbY FTC RIS B SR MBI AW o (I |

Ans : B.

T 30 IS R TP SRS IR | 0IeH b1t
300Pa -c= fim cand fww &rw 5600 o1 =S >R 33w
1200J 3% 7iifie @@ | TR SReER cfiedT Ao

H

: 2014-2015 (348)

e feefawrerm (H Unit)
i : 2014-2015 [Set-3]

o3, % Ruwew #: T

A. & + fe B. w2 7
C. 3= + +f D. 9ze + %
e : g AT e e Saread-
o 28+ o - JEf® o T 4 - W
o 31 + 54 - wred o 39 + f© - TS
T 4 F - THA o (71 + % - (5™ m
Ans : D.
ox, (B8 - g7 afeer 2
A. @6® Bl C. Afem D. firg
* I - e, g
o =i - Ao |
Ang AL
0o, o @R 36 wd Wager
A. Rgm v+t B. sufifs C. 3w ww D, s@ew
AT T (%% 1Y) ; AHRI (F95)
Ans: C.

o8, FiaR GFRM Rr=m ¥ T
A. TIIZE TIEH, BIIEH WL
B. coirat, 39rgee o1
C. cor<zarfe, afewos searenary
D. 2%+, JoI8 SO

AN : oA A TG GG ST | TS oA
w"msmmWW|
Emﬁar

A T B. 15 C. s+ D. fafem

TG : @ I - A, RPR, 99, @@, o1z |
o * - e, A, Beo, o, A |

ﬂﬁ 'Oracle' means .

A. find B. look up  C. prophecy D. noun

I : Oracle - ™ |

Synonym: Prophecy, Repeal, Inspiration, Revelation.

Ans : C.

Choose the appropriate preposition: Life is made
up __ sobs, sniffs and smiles.
A.in B. of C. to

ML : « Make up of - if¥s zem

* Make of - 3fiits aR1/sthe gem

Ans : B.

08. Which one of the following word is misspelled?

D. about

e T A. camouflage B. abandoned
A 5m’ B. 4m’ C.3m’ D. 2m’ C. borrow D. discuss
. dW=PAV . AV= _t_!_\l_’=1200 it W:-Al_mndoncd-’iﬁww e Borrow - 4% 311
P 300 * Discuss - ST <1 » Camouflage - wata=
Ans : B. Ans: A,




1 have got two mangoes. What ___ you?

A. about B. with C. for D. over
I - coreE R wEg e What about you 3 |
Ans: A,

10. Choose the right parts of speech: Computer

Poseetie R St e e o

M : Future tense 47 e wwwy 3@l oF Faa | o
future perfect tense TH |

Ans: D.

17. __ school very young, he is very successful.

A. Although leaving B. In spite of he left

13. Choose the right parts of speech: ""each other"
A. Relative pronoun B. Descriptive adjective
C. Proper Noun D. Reciprocal Pronoun
I : @ pronoun %2 ¥ wrefeF e Ty RS
(3138 ©eS Reciprocal Pronoun 3% |
@w4- Each Other one another.
Ans: D. ‘
14. Which of the following is different from others?
A. Effective B. Imminent
C. Near D. Forthcoming
414t : ¢ Effective - a1 o Imminent - 37
» Near - #1e/®iie/#5 e Forthcoming - S
Effective 29l 9If@&r# synonyms.
Ans : A.
Choose the correct form of verbs: She proceeded
as though I (not speak).
A. not spoken B. did not speak
C. had not spoken D. not speaking
I/t : As though «F ST past indefinite 49T as
though 9% *= past perfect & |
Ex: She proceeded as though I had not spoken.
Ans:C. -
Choose the correct form of verbs: I (finish) this
book by tomorrow evening.
A. finished B. is finishing
C. has finished D. shall have finished

generated error massage has stopped the C. Because of D. In spite of leaving
program. PGt : S IACT T (R MG, 47 TS In
A. Noun B. Adjective Sp.ite of}eaving.
C. Adverb D. None Ans: D.
T : Generated - $&g | m He went to the market ___taxi,
Error (@®) word % noun =¥ noun @3 =t adjective A. with B. by C.on D.in
07 | 512 generated 9% adjective. It : Taxi-c5 ICA (07 IS WFELE preposition
Ans : B. R by 901 |
11. Rearrange the following letters to make a word : B.
and choose the category in which it fits: Finishing a course is always .
FOLBAUF A. satisfaction B. satisfied C. satisfying D. satisfies
A. City B. Bird 1 : Always adverb 53 =1 participle &=
C. Vegetable D. Animal satisfying 1 1
14t : FOLBAUF = BUFFALOQ - 3fe8 ¢ Animal. Ko e
Ans : D. Choose the appropriate preposition: Joana
Which of the following is the antonym of VIRTUE? flopped down ____ the shabby little couch.
A. ﬁjﬁUd B. Cljimc A.in B. to C. of D. about
C. vice D. wickedness g : Shabby little couch @3 foe3 We *FrEm
It : Virtue - F/7me | preposition & in ¥4 | ;
Synenym : Merit, Good, Excellence, Grace. =
:ntoném : Demerit, Vice, Scandal. A(,-1),B(2,2eC®401) R oAb sz T t
ns: C.

O T FE?

A3 B.2 C.4 D. 8
[ (1, 1), (2, 2), (4, t) T T,
4 1
14 # =0=>R2+2t-4+2-8-)=0
2|-1 2 t -1
St-8=0=>1=8
s:D.

A (t, 3t), B (£}, 2t), C (t - 2, t) ¢ D (1, 1) v fog
% | AB € CD qIeq@ T, t 97 FWIY T FS?

A. -2 B. 1 €2 D.0 .
TN : AB & CD TG 2031 SIwa Bt A1
t-3t 1-(t-
:22 3t_1-(t-2)
t°—t 1t
S 37t o= s im1 =2
t-1 1-t 3-t
Ans: C,

0. G SR THIET Y, oY € THOR WFAS 4:3:2
IR B TSR w468 TE0R T @ vl T A
A 4fBr  B.l6fBm C. 86" D. 12 fitE

IMit:a=4x,b=3x,¢c=2x

=, 2 (ab+ bc + ca) =468
= 2(4x.3x + 3x.2x + 2x.4%) = 468 = 26x° =234

S %x=3

weie Ay, a= 12

Ans : D.




A. 1/6 B. 3/6

C. 206 D. 1
YT : (ST ey W T = %
Ans: B

wft Rrgrers ot Mg Reg werasat A (-2, 0), B (5, 0)
C (1, 4) | frgef® & ooy

A, T B. fRamag

C. ufearg D. 7E

TG : AB=4/(-2-5)2 +(0-0)? =7,

BC=y/G-12 +(0—4F =442
CA= J(—2 1)14.(0 4)2_5 1
* AB#BC#CA g
Ans: B.

20, summmssﬂm 2suﬁmam
T VIR G ASIFE G SR WS I IS A |

(A IS IS A FS =7
A. 40 B. 15
C. 20 D. 12

ot 50 -35=15

Ans : B,

4. P(x) = X° — 8x + 6x + 60 TR x + 2 I O B
B T A7
Al B. 3
C.8 D. 4

T x +2=0 = x =2 g o,
(-2’ - 8(=2) + 6 (-2)+ 60
=—8+16-12+60=56

Ans : W8,
3. ﬁmmmﬂﬁ'—mwr
X" —4)( +1 x4
C(x+D)(x-2) T (x+1)
x% +1 x> +3x2
C(x+D(x+2)x-3)  (x2+1)

TG : 71 G TS, T 9 S (U0F T 0 4P Giee] N 2 |
Ans: C.

W, 3 =3a™ @>0,2#3, m# ) TIx=?
A.m/2 B. 2/m

C.2m D. m*

mx -1

= g2, 3mx-2 = g2

F oy \NIX—2 ; 0 i
=5 [3] =-1-=(£] =>mx—-2=0=>x= =

5 ee
Ans:B.

TG 3™ =34

W

11 2014-2015 (350)

®o. r TP AR 30 s tedR W w1t @ JoeR TE O Gt

ooty T AT (31 oo wder

A O=rs B.s=10

C.r=s0 D.O=s-r
| Ans : B. ]
3. 4 + 3i wiow ey T oy

A. 4 B. 3/4

C.5 D. 3

TN 4+ 3i @r w42 432 =25 =5
Ans : C.
ox, M P (x) ¥ T Ieeh 28, 93¢ P (a) = 0 T, @

P (x) @7 <35 Teoiiie Ta-
A.x—-a B.x+a
C.a—-x 5 gt
a
Ans:A. sy |
ha,x’+b1x+c, =0 @R ax +bx+c; =0
S R e Rew oS e
RNabi=(~oe) BB G
a, ‘b; ¢
L
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